UGC NET 2021 Santali

Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

faeTieRa arfershn @ 2020-21 % & faemem | e fafis el ma: do, e, fEwr, 9o
Wi wEatee @ fanfist & T w5 gt 21 e 4 fafes Gere 8 1750 sEmen afEm B
3000 feremioat 1 TR 530 2| AIfciRT § 9ET 3RS F 9RO H, 1-5 F I T

ToraTey Aratihe farentart 1 ufaog (%) | Fmiwd sEre = gtawd (%)
(3000 # @) (1750 @ @)
EREal 16% 14%
HIEE| 21% 28%
LEEED 14% 16%
I 24% 20%
oA 25% 2929%

What iz the approximate percentage (%) of boys in the school?

1) 42% 2 A%
(3)  34% F hire
forerT # SET W AR wiEed (%) 3
(1) 499, (2)y 28%
(3)  34% (4) 50%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18859]
2. 2 [Option ID = 18860]
3. 3 [Option ID = 18861]
4. 4 [Option ID = 18862]

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled

in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wize Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
T wins e or 2404 ano.s




recarbr kot arroaos ¥

| Handicraft

22%

T E. 1-5

freAifera aifer B 2020-21 % SRA faarem 4 o= fatya Grarswemat ma: dod, e, e, 5o

ain weafen § faenfei = qmee = g 21 faem § G Gemerdt 8 1750 sEneT afw Fe
3000 faremioat 1 TR 520 2| AifcrRT § 9ET 3RS F OT9R 9 OO H, 1-5 F I T

eI =R AR AT

IE eI ArariRe farentart =1 ufaeg (%) | Fmiwd sEe = gtawd (%)
(3000 # &) (1750 ¥ &)
T 16% 14%
HIEE! 21% 28%
lEEED 14% 16%
Fis] 24% 20%
A 25% 29%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485
(3) 420

(2) DbH05

(4) 585

A AR FEEed § 5w w0 H R o i 3¢

(1) 485
(3) 420

(2) 505
(4) 585

[Question ID = 4850][Question Description = Q02_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18863]
2 [Option ID = 18864]
3 [Option ID = 18865]
4 [Option ID = 18866]

A wnN =

3 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

fAeTieRa arfershn @ 2020-21 % & faene | e fafis Grameral ama: do, e, FEwr, 9o
#i wEatee @ fenfist & T w6 gt 21 faerem 4 fafes Gemem 8 1750 sEmen afEm B
3000 Taenfai o1 TR £31 2| AifcTht | U HTHs % SNU 9 WY H, 1-5 % S

faraniem =1 FarreTER A

[FElE e Arattere faentern =1 ufaog (%) | Fmiwa e = gtawd (%)
(3000 § ®) (1750 ® &)
GiEal 16% 14%
HIEE! 21% 287,
LEEED 14% 16%
Fis] 24% 20%
=rafeTeg 950 990




What is the total number of girls enrolled in Swimming and Drawing taken together?

(1)
(3)

el

505 (2) 515
525 (4) 535

Tl S T HAE w0 H e Al SeneT A # ¢

(1)
(3)

505 (2) 6515
525 (4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18867]

2.2

[Option ID = 18868]

3.3

[Option ID = 18869]

4. 4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
1n various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wizse Enrollment of Students
Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
qv9 H. 1-5
e aTferRn =9 2020-21 % EWF fEner | e Tt Geeer Tmh: dw, e, R, T

3N weafeen d famnfa & Fmee w gwid 21 e g fofas Geamerdt 9§ 1750 sEme afed Fa
3000 it =1 TR gan 2| AiferR § UET AR F YR WOUTA H. 1-5 6 I E

et =1 GFsaEr T

[EZiE ] ARG faEnfeet = afama (%) | iR et w5 aiaea (%)
(3000 & ®) (1750 ¥ ©)
EiEal 16% 14%
= 21% 28%
Ferl 14% 16%
I 24% 20%
FEAfE 25% 299

The number of girls enrolled in Dancing forms what percent (%) of the total number of

students in the School? (Round-off to two digits)?

(1) 9.32%
(3) 11.67%

(2) 10.67%
(4 14.67%

P e

Jea # ArmifeRd wEne i @ea e F Gt i g e

qUTieR = T 7

(1) 9.32%

(2) 10.67%

fepa ufae (%) 2 (281s %1 #




(3) 11.67%

(4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18871]
2 [Option ID = 18872]
3 [Option ID = 18873]
4 [Option ID = 18874]

A W N -

) The following table embodies the details about the enrollment of students in five different
actlvities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 229,
o7 . 1-5
faetifrm arferhr &= 2020-21 = ZH faarem § o fafym Srrser A fd, T, S, 3

3 wafoey § faenfiE & Fma w gwid 21 famem § ffes Gemerdt 8 1750 sEist @ g
3000 farenfefa o1 TR goT 2| AicT | UAT HwS F YR WA H, 1-5 F IWD

IERIETIL] ARG faEnfEt 1 afama (%) | iR SEnet w5 aiaea (%)
(3000 & &) (1750 % ®)
EREal 16% 14%
e 21% 28%
ety 14% 16%
I 24% 20%
s v 25% 299

What 1s the ratio of the number of girls enrolled in Swimming to the number of boys enrolled

in Swimming?

(1) 59 :49

(3) 33 :43

T W ARG TS S BE H ST R

(1) 50 : 49

(3) 33 :43

(2 23:29
(4) 49:47
(2) 23:29
(4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18875]
2 [Option ID = 18876]
3 [Option ID = 18877]
4 [Option ID = 18878]

AN wnN =

Topic:- GP_Set5_B

1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution

(3) Teacher task-orientation

(2) Structuring
(4) Teacher affect



FTIEE H, THIE THET W g el HRE /I T R Y

(2) TR
(3) T = - i
(4)  foras gEmETE

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2.2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]
2) ldentify the indirect teaching strategies from the following list :
(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples
(C) Explaining, exemplification and practice
(D) Problem based presentation with pair-share technique
(E) Encouraging students to use references from their own experiences
Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B) and (C)
(3) (B), (€) and (D) (4) (C), (D) and (E)

TreATtFa B @ siaeas e T # e fifa
(A) SHFETRY, ST B FETA H WA I ACETEA A TEE AT
(B) Tl FR T-3EA0N % AT H SaEnen- e
(D) THI-FEHe TFATF F =Y T - AT W

(E) et = o s s @ a SR % fre s e

Hr= fou v faweTl § § wE I H 9E A

(1)  (B). (D)3 (E)
(2)  (A). (B) W (C)
(3)  (B).(C) = (D)
4 (0). (D) ¥ (E)
[Question ID = 4855][Question Description = Q07_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18883]
2.2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List Il :



List | List Il

Modalities of Teaching Implementation

(A) Instruction (I) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (1) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(D), (C)-(1V), (D)-(ll) (2) (A)-(1), (B)-(ID), (C)-(1D), (D)-(IV)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(I), (B)-(1V), (C)-(), (D)-(1N)

-1 = @ =11 1 faem Fifse
i1 1T

(A)  FrEuE (I)  Taemiern @ {26 % == 5 v
S

(B) iz (ID T | et =1 fo=m = ge=mi weqid

(C) s (III) T=1%7F I Trmieta Senisa Sems

(D) HAEH (IV) Teenie=n i e =+ == = #1 gt
AEH-TEE

i Tou e T § W HE I =E i

1)  A-aD. (B)-(D). (C)-AV). (D)-IID)
(2) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

[Question ID = 4856][Question Description = Q08_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889]
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement Il : Choice-based credit system in Indian Higher Education is a new entry.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

Fr9 = = fRe e

w9 () FZ- ATITNE THEAT § e U1t § Seq el i s@En Hetar 2

Foe (1) : A | 3o foiEn # famen-smaiiia swise ure U A saee 2
ST Y % AT H, J B e el | 8 wed suged 39 1 =9 i

(1) = (D) & (ID) 3 8T 2
(2w (1) SR 1) 3 T4 7
(3)  Fe (1) ¥ B, 9 e (1) T &
@) = (1) 7= 2, | F9E (1) =81 2

[Question ID = 4857][Question Description = Q09_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18891]



2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= =y for w2 - v 9FYR (Assertion A) % =9 d fafma 2 A THN IEF % HA0 (Reason R) &

AR (A) ToTeTn EETEAT WO, RO SYAT AT, T 3evd SR i gae Al A
foreqor- st s | e = G w2 2

= (R) foreqm wfomat =1 FHaiiE AeETETE S SEEY S % (60 T § TF SR

IR FHA F A F, A= 50 T e § g6 39T I H 9a i

(1) (A) #1 (R) ZF1 @81 7 3R (R). (A) Fit 77 =men 2

(2)  (A) =W (R) TH 541 7, <A (R). (A) Fi @8 =amea 74 2

(3) (A TF 2, A (R)Td 78 7

4) (A TFH TF 2, 9 (R) =9 2
[Question ID = 4858][Question Description = Q10_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18895]
2 [Option ID = 18896]

3 [Option ID = 18897]
4 [Option ID = 18898]

A WwWN =

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

HIGE =7 0 Weadl giadAl & A °, B SEE Tonell § w50 206 AT S 2

(1) =M o] (2) =atE IveEs o
(3) IV HAET Tl (4) TEFTEEE o]

[Question ID = 4859][Question Description = Q11_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18899]
2 [Option ID = 18900]
3 [Option ID = 18901]
4 [Option ID = 18902]

A W N -

7) ldentify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (C) only



(A)  FTEUE 1 HEE TihA H 2 T s aiomE s see |
(B) \:Il-il-_f}—fﬁ.' = UcdEdel aﬂ:{ I’[ Hﬂﬁil _sﬂ G T .i-'é'.-f'HIqu—, .—_,“{_,\-”r'q.h,‘_” = = T Gﬂ‘c]Tﬁ_rl%
(C)  SHAGEHAT WY TRTET F WG = w A

(D) Y e AT T e F A = 2

Jr= fou v fameal @ | TEE 39T ST A =EA I

(1)  Fae (A) 3 (B)
(2) = (B) 3R (C)
(3)  Fa= (C) 3% (D)
(4)  FaEe (A) #HE(C)

[Question ID = 4860][Question Description = Q12_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18903]
2. 2 [Option ID = 18904]
3. 3 [Option ID = 18905]
4. 4 [Option ID = 18906]

8) Match List | and List Il

List | List Il
Sampling Methods Procedure involved
(A) Simple Random Sampling (I) The first member is used as an informant to identify other. The process goes on like
this
(B) Stratified Random Sampling (Il) The units are chosen intact on the basis of their settings
(C) Cluster Sampling (lll) The units are chosen from defined groups/levels randomly
(D) Snowball sampling (IV) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(l), (D)-(1V) (2) (A)-(1V), (B)-(I1), (C)-(I1), (D)-(1)
(3) (A)-(), (B)-(1V), (C)-(), (D)-(1N) (4) (A)-(1), (B)-(1), (C)-(1V), (D)-(In)

-1 % = F=h-11 =1 foere Fifom
-1 T-I1
wfgel wonEt wferer = fafer
(A) = AEfeaE i (I) "99 @2 & w3 # e F9 w3
AR % BY O UEE A 9 R AR
wishn sHi #H § =ert w2
(B) T AgeaT qoe (II) ShTsAl 1 =& S99l =0aedl = ST9R W
TYTEA AT A 2
(C) Ferer wiasd (IID) sshrgdl 1 =9q afifig e /ol |
5fee® =0 § fFan S 2|
(D) T afaed (IV) sFra #1 =999 TodF & 59H @R ST

FE F T = )
Hr= faw o fepedi | © wE 3w =EA Hifw
1) (A)-D. (B)-II). (C)-(I1I). (D)-AV)
(2) (A)-(IV). (B)-(I1I). (C)-(ID). (D)-(I)
(3) (A)-(TIT)., (B)-(IV). (C)-(I), (DH-(IT)
4) (A)-(II). (B)-(D). (C)-(IV), (D)-(IID)

[Question ID = 4861][Question Description = Q13_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18907]
2.2

[Option ID = 18908]
3.3

[Option ID = 18909]
4. 4

[Option ID = 18910]



9) Given below are two statements :

Statement | : Action Research is used primarily to improve a given situation by a practitioner.

Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

1 B e o B )

=4 (D) FEATEFAT SETT ATEHH HT IUENT TIHE: 5T IEdtd § Heagd 7w 2
e (ID) : SR FTHY Y- gl i TSI % 353 % A= i A0 I w2

ITE FUA F ATEF °§, A G T e O o 9ed S0 S R =99 AT

(1) F29 (D) ¥ (1) 31 =91 7
(2) A (D) 3 (1) 5H1 T 2
(3) =¥ (I) =l 7, wifa #aA (1) 7o 2

4) T (D TeE 7, A e (D 99 7

[Question ID = 4862][Question Description = Q14_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18911]
2 [Option ID = 18912]
3 [Option ID = 18913]
4 [Option ID = 18914]

A W N -

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I 21 wym fae U ? . v wfiwYs (Assertion A) % =4 ¥ fafad 2 & E;HTFEFTT:"WW (Reason R) =

wAfaFeE (A) mg-TAg § wH fafed wEw va medtEwr A uREm w1 SOeE
TS 2
Fr (R) =6 UfEE H SHEGE B AR i # S g 5 s 2|

IR FUA F AEF 5, T B T fawed § 9 5ed 39g 39 F1 =599 Fia

(1)  (A) 3R (R) 2 |E & 37 (R), (A) #Fit =ét =ame 2
(2) (A R (R) A T E, T (R), (A) i m@ = w6 e
(3) (AT, #fF (R 78 78 &

4 (A TH AR, R T



[Question ID = 4863][Question Description = Q15_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18915]
2.2

[Option ID = 18916]
3.3

[Option ID = 18917]
4. 4

[Option ID = 18918]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Il health

frefefia & @ =+ = =i Sifes s = S5mm 27

(1) I (2)  IEEE
(3)  TEmEE (4) =Y

[Question ID = 4864][Question Description = Q16_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18919]
2. 2 [Option ID = 18920]
3. 3 [Option ID = 18921]
4. 4 [Option ID = 18922]

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which
category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

w1 AR ° e g geeeEwal, WE-megm o favesm # gwar w1 oveem G oavit s

(1) == =i

(2)  wfy=ts Fe
(3)  difzn 3w Fee
(4)  =EEE

[Question ID = 4865][Question Description = Q17_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18923]
2. 2 [Option ID = 18924]
3. 3 [Option ID = 18925]
4. 4 [Option ID = 18926]

13) Why do we communicate?

(A) For social interaction.

(B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A), (©), (E) only  (2) (B), (C), (D) only
(3) (A), (C), (D) only  (4) (A), (B), (E) only

¢

T ATETIEAT 1 B 7

(A) =S s R
(B) TH=T _E'ﬂ

(©) i w2



(D) 999 13 A B

(E) WERIs % ST B

e fau o famweai # © wE 3w o =EA s

(1) == (A). (C). (E)
(2) @ (B). (C). (D)
(3) Tt (A), (C). (D)
4 F=E(A), (B). (B)

[Question ID = 4866][Question Description = Q18_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18927]
2. 2 [Option ID = 18928]
3. 3 [Option ID = 18929]
4. 4 [Option ID = 18930]

14) Match List | with List Il

List | List Il

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intrapersonal communication (Il) Classroom Teaching

(C) Group communication (lll) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(ll1), (C)-(I1), (D)-()) (2) (A)-(1), (B)-(IN), (C)-(l), (D)-(IV)
(3) (A)-(I), (B)-(1D), (C)-(IV), (D)-(1) (4) (A)-(Il), (B)-(I), (C)-(D), (D)-(IV)

Ft-1 % Wy g1 =1 e Hitm
lﬁﬁ-I ﬂfnﬁ-II
(A) T FER (I)  wifer=mn ==
(B) wid-=afF® T=n (IT) e foreqm
(C) =HE #IW (II) T34 % T19 H9W =
(D) FAadafs F=n (IV) |eft 2= gummr 2

fi=r o o fepeat | 9 wE IO o = i

(1) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

(2) (A)-(D). (B)-(II). (C)-(III), (D)-(IV)

(3) (A)-ID), (B)-(III), (C)-IV), (D)-(D

(4) (A)-(III). (B)-(II). (C)-T). (D)-(IV)
[Question ID = 4867][Question Description = Q19_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 18931]
2.2

[Option ID = 18932]
3.3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : A man pulls a loaded truck by his hair which becomes news.



Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= 21 ®ud 2w e 2 ;v wfawud (Assertion A) % w4 H ffad 2 A En 9% 0T (Reason R) &

I (A) S i3 A AU ST #, YR ¢ i WAl 2 91 9% SHEE 59 6l 2
FTm (R) : ST =t AT [t & FEm waEn 59 S SR e # g it ol

IE FUA AR H, A= o T el § 6w 39 3 1 =S i

(1) (A) 3% (R) A1 =21 # 311 (R). (A) F 581 =@ 7

(@) (A) R (R) FH HE E, A (R). (A) FFE = a6 2
(3) (AW 2, =@ (R) &8 74 2

@ (A TEFE R, S (R TR

[Question ID = 4868][Question Description = Q20_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938]

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point. How far did she ride Northward initially?

(1) 2 km (2) 4 km

(3)5km  (4) 6 km

fomar st =2t o I fem i aw gTyE w9 F 9w A ggt Wi = 9 gge 4 i ) amR
¥ FF A T f6g # 2 feate afvem § R 9 I e o 3ue foee e i et amn £

(1) 2 ’\50_"]\'1:} 21, (2) 4W’: S .
(3) 5 PR (4) 6 FFeT

[Question ID = 4869][Question Description = Q21_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18939]
2. 2 [Option ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr
(3) 66 km/hr (4) 82 km/hr

50 Toreiditer wieee i wfq & =er W 108 Hiex weft ot fawda G & e w112 die s wd
6 WS H T el | gEdl e A i w2

(1) 48 fetidfiz/faa (2) 54 feetidier /e
(3) 66 TR/ (4) 82 Toperidier /=a

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18943]
2. 2 [Option ID = 18944]
3. 3 [Option ID = 18945]
4. 4 [Option ID = 18946]



18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°
(3) 60° (4) 50°

3R 30 " Fi Hidt 15 dex i AR ¥ 79 uHR o A B 9% <an $ i gl 5w, aq dEn =
AT B E

(1) 45° 2y 30°

(3) 60° (4 b0O°
[Question ID = 4871][Question Description = Q23_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18947]
2. 2 [Option ID = 18948]

3. 3 [Option ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs. 752 is 1.2 times the loss incurred when the same chair was sold for Rs. 400.
What is the cost price of the chair?

(1) Rs. 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

s forelt =l =1 752/ - =ou o s=A ot ey s= w1 400/ - T F i v fae @ 2N A

FN 1.2 TR, A FH F AT GoF T8 7
(1) 540/- ®UT (2) 3592/- %04

(3) 560/- #00 (4 640/- ¥OU

[Question ID = 4872][Question Description = Q24_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18951]
2. 2 [Option ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

M7 (2) 8
(3)9 (4) 12

o gew, = afzend @i o7 w= Gl w9 w0 wE 7 9 gu e §) 9FR o afee 9 9we d 2EET

I FAl 8 3T TAF =1 G569 I g B AT FW FAdr 2, 91 et afaand 5|5 %m A 7\ w0 g aw

HFAl B 7
(1) 7 (2) 8
(3) 9 (4y 12

[Question ID = 4873][Question Description = Q25_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18955]
2. 2 [Option ID = 18956]
3. 3 [Option ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyava philosophy an argument proceeds only on those issues
that are completely unknown.

Statement II : According to Nyvaya philosophy an argument does not proceed on those

1ssues that are well established.



In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II 1s incorrect.

(4) Statement I is incorrect but Statement II 1z correct.
FH () : =1 39 % AN, TH-0h Fad 39 @A 9 5 2 = e 59 6
Fo (1D I EEE AN, - Taae 39 [ | e w5 | g 2

SUURE YA F AT, A e e G d 8 gen sugeE 39w 95 i

(1)
(2)
(3)

4)

e (1) 371 (1) 2 |ef 7
FeA (1) # (I1) 31 TeAa 2
FoH (1) 721 &, AR F99 (1) 74 7

Fo (1) T 2, SfF e (1) =9 2

[Question ID = 4874][Question Description = Q26_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18959]
2. 2 [Option ID = 18960]
3. 3 [Option ID = 18961]
4. 4 [Option ID = 18962]
22) With reference to Nvava philosophy. which of the following statements is true?
(1) The linga or the middle term is not the Karana or operative cause of inference.
(2) The middle term may be a thing of the present but not of the past or the future.
(3) The middle term can function in an inference when past or future.
(4) The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.
=1 59 % wed H, [Ehd § @ FE-" FeE w1l 27
(1)  Torm o191 =g =001 AT HHE 1 TEled O e 2
(2) =7 F9mE F 95 = TEa 7, g 97 sy 9t s w5 65
(3) =9 9d @uE qfFe BH W IEEE § TmE # 5
(4)  =AE Y 7Y AR WA F A= Y0 GGG F JH F ACE 57 HET TF TEA1 T B

[Question ID = 4875][Question Description = Q27_GP_22NOV_S1_SHAAN_Shift1]

AN wnN -

23)

1 [Option ID = 18963]
2 [Option ID = 18964]
3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Nalyavikas that the
svllogism consists of five members or propositions.

Statement II : Mimamsakas and Vedantins agree with the Naiyvavikas that the
syllogism 18 necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.

In the light of the above statements. Choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

=97 (D) HHTEe 1 F=SE AW WY 56 9" 9 WA B 6 SAEaeE ¥ Ui w@Ee sE
afd Hﬁl‘[ r:.'_( %l
Fe (1) fiaes AR J3El AATR F @Y 3@ A9 W HEAS § 4 AEaed A WEEe

ST TEARAT FHAE F AT SEvasE 2, 7 6 SEeEAE w99 E=EaE 5 o)
S HUF & A °, S 50 e el 8 8 oeg 9 I 0 99 i
(1) = (I) 31K (ID) 31 =&t 2
) e () 31 (II) 31 7Tei| 2
(3) = (D) &9 &, Wi e (1) 7o B
(4) = (1) T=d 2, @it w5 (1) T8 8
[Question ID = 4876][Question Description = Q28_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18967]
2 [Option ID = 18968]

3 [Option ID = 18969]
4 [Option ID = 18970]

AN wnN -

24) Given below are two statements :

Statement | : A formal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= = = faw mm B -

T (D) : AR 2o =98 7 59 aeh—araa =1 AR w9 g =i e
Bl ]

F9 (1) : ST 2o Fae TATE a-aed § U 9 £ e sifiafaae sreres
AT

I YT F INeF °, I for U et 8§ o o8 39 1 99 i

(1) =9 (1) =1 (1) 31 &9 &

(2) = (D) 3R 1D 3 E #

(3) YA (1) TeT 2, =0 FY FHT 7
4 w (I) U 7, =fF A (1) e B

[Question ID = 4877][Question Description = Q29_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18971]
2 [Option ID = 18972]
3 [Option ID = 18973]
4 [Option ID = 18974]

A W N -

25) ‘‘Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when
operating. Therefore surgeons should be arrested’’.
Which fallacy is committed in the following argument?



(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

=1 FE o ot =t W = e, 39 fEwEn e S i) aea-afEes aeate # w6 o

=l W AT F AN FA@ | A, AeF- Tl F R s e

I TF-AT °§ FA-H EeEE BT

(1) AT =i
(2)  TEM H EEE

(3) Iz Em

(4) =M wieEEr] # adie

[Question ID = 4878][Question Description = Q30_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18975]
2. 2 [Option ID = 18976]
3. 3 [Option ID = 18977]
4. 4 [Option ID = 18978]

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is :

(1) 111 (2) 1000
(3) 1010 (4) 1001

0.10. 100, 110, P ..... =i fZ=n dw=maAi & %9 9 P &1 94 a1 s ¢

(1) 111 (2) 1000

(3) 1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4. 4 [Option ID = 18982]

27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache

(B) CDROM

(C) Hard Disk

(D) RAM

(E) Register

Choose the correct answer from the options given below :

(1) (©), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FET & TR HAE 0EE F ged U1 @ T dig w0 | ST w5

=

(A)  F

(B)  ifs 1m
€y == feom
(D) 39

(E) =

= f2u U e § | wE 39 o =5 FIA

(1)  (C). (B), (A). (D). (E)
(2) (E). (A), (D), (C). (B)



() (B (L) (D) (A (E)
@ (D). A). E). B). ()

[Question ID = 4880][Question Description = Q32_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18983]
2. 2 [Option ID = 18984]
3. 3 [Option ID = 18985]
4. 4 [Option ID = 18986]

28) Given below are two statements :

Statement | : CPU executes software directly from secondary memory.

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= =1 %o o o E

Fod (D) : Hify fgeoree 39§ AiweePr i geaer: FEld e 2|
o (ID) o7 WA HeF Aid BT FEeAld 2 90 520 A S1ees 491 = A |

TOF A F A 9, A= G 0 e | " " 3 =S i

(1) =@ (D) 11 (1D 5 &e 7
) Fem (D) 3 (1) a1 379 &
(3) M (D) & 2, =iF FoF 3@ 7

(4) = (1) 78 7, A w2 (1D 779 7

[Question ID = 4881][Question Description = Q33_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(C) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (A), (B) and (C)

faehl % ey o FH-HE U FA qeg B 7

(A) o gui =1 gEwE U % o Histzn s i e 2

(B) fait um B o 71 weiw witEds sifRa o s 2 ot =0 et fome o g = o R
(C) ot =1 aafiqmre =0T =1 STt & |=aT i1 A 3 3|

Hrt fam 1o fameat § & wE 3 w6 == i

(1)  Fad (A) 37 (B)

(2) == (B) #HR (C)



(3)  =ae (A) 3 (C)
(4)  (A). (B) 3 (C)

[Question ID = 4882][Question Description = Q34_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List I

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (I) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(I), (C)-(1), (D)-(1)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(1), (B)-(1), (C)-(l), (D)-(1V)

-1 = =g F=-11 =1 foem it
=1 TA-11

(A) = (1) e srfafaoiar, aur-safaat, sw-o

(B) T==u (IT) it wafeats 9 awg, JafF+
ST 1 SR 3T ST

(C) Tefsmriem (III) =&t -t off s=eaiia e =+ oy
TR ()

(D) TATE (IV) s=waiia foan & fou Faes ddea 99

I 2w 0 foeedl § W 981 9% 1 999 i

(1) (A)-AID, B)-AV). (C)-ID). (D)D)
@ (A)-AV). B)-I). (C)-@). (D)1
(3)  (A)-AV). (B)-(III). (C)-ID). (D)-(D)
)  (A)-AD. (B)-(D. (C)-(IID). (D)-(IV)

[Question ID = 4883][Question Description = Q35_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B) Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D) and (E) only (4) (A), (B), (D) and (E) only
U o T H it Sufoe w i g 2

(A) A, FIEAS T
(B) w9 FaiTE

(C) wranifi afwman st
(D) = amafire



(L) =g
Hi f2u o fapedi § ® WE 3T Rl =9 it
(1) = (A) @1 (E)

(2)  FAE (A), (C) 31 (E)

(3)  =Ae (A), (C). (D) =1 (E)

(4)  FFA (A). (B). (D) =1 (E)

[Question ID = 4884][Question Description = Q36_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]
3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) Under Sustainable Development Goal 12- Sustainable Consumption and Preduction. one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

dy % & X
3 X 4 u

Under Sustainable Development Goal 12- Sustainable Consumption and Production. one of
the targets 1s to reduce per capita food waste at the retail and consumer levels by :

(L % @ Y
(3) u 4 Y

[Question ID = 4885][Question Description = Q37_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) -~ 100 MW
(3) ~ 10 GW (4) ~ 20 GW

A H o Sl A GHAl et 5 o S 2 v

(1) ~60=mERE (2) ~ 100 ==
(3)  ~ 107fFrmEeE (4) ~ 20 rmET

[Question ID = 4886][Question Description = Q38_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Option ID = 19008]
3. 3 [Option ID = 19009]
4. 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B) and (D) only (4) (A), (B) and (C) only

(A) TEw TEATEES
(B) AR EEEEEA
(C) Hiem

(D) A T AR

= f2u o faweat ® ® mew 39 w1 =9 i



(1) & (A) =i (B)

(2)  FA4 (B)

(3) A (B) 3 (D)

(4) =S (A). (B) 31 (C)

[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19011]
2. 2 [Option ID = 19012]
3. 3 [Option ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1v), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(IN), (C)-(), (D)-(1)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(I), (B)-(D), (C)-(1D), (D)-(IV)

freifra & o 7 Trfos aie i TUeTEdE & =9 ° 4uiiga e e 7

(1) TEzEmmEm (2) TeHEEEd
(3) TEHE (4) ==

[Question ID = 4888][Question Description = Q40_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(C) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A), (C), (E) only (2) (B), (C), (D) only
(3) (A), (B), (C) only (4) (©), (D), (E) only
% forem Hifa-2020 &, F=AitHa § @ frwr wEmEn a1 AR = O 2
(A) e foen 29 adm aewmEe B
(B) iz foren =g TEA TS BT
(C) o Torem =g udfm wie=rshn ==
(D) TR foam =g UEE TSy g
et fam o faweat © @ @@ 3o w1 =E i

(1)  =Rad (A), (C). (E)

(2) == (B). (C). (D)

(3)  F A). B). (C)

(4)  @a (C). (D). (E)
[Question ID = 4889][Question Description = Q41_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
3. 3 [Option ID = 19021]



4. 4 [Option ID = 19022]
37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism
(3) Value of freedom (4) Value of conformity

F]:I';l- '\3h;.l i:[ -él ﬁ?—m l:l!rvq 12[—3:-'3pi _gl q--aq_,t %?

(1)  FEm g (2) TEGEATE g
(3)  TEAEA F A (4) THAFETA F g

[Question ID = 4890][Question Description = Q42_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) IITI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A), (C), (D) only (2) (B), (C), (E) only
(3) (A), (B), (C) only (4) (B), (C), (D) only
a5 e Hifq-2020 o =R § @ T el i e = e w7
(A) HuHTa T
(B) g
(C) =8 =8 7t o1
(D) w7 = F e

(E) wdm

i Tou o famel ® © wE 39 #1959 St

(1)  =ad (A), (C). (D)
(2) %A (B). (). (E)
(3)  F== (A). (B). (O)
(49 FA9 (B), (C). (D)

[Question ID = 4891][Question Description = Q43_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19027]
2. 2 [Option ID = 19028]
3. 3 [Option ID = 19029]
4. 4 [Option ID = 19030]

39) Which of the following is an apex advisory and non statutory body?
(1) NITI Aayog (2) NCTE
(3) AICTE (4) MCI
faeitha ® @ =7 wET= HemEwnl Wi TT-wEtts e gt
(1)  ifa s (2) wHIFE
(3) uwamEE A (4) T i amE
[Question ID = 4892][Question Description = Q44_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]

3. 3 [Option ID = 19033]
4. 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?



(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M. Moolgaokar (4) Moolchand Sharma

farafaae o em A= F Tug 7egE w2 97
(1)t zag ==ie (2) # =g Tmge
(3)  fi ., geE (4) Horeg T

[Question ID = 4893][Question Description = Q45_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19035]
2. 2 [Option ID = 19036]
3. 3 [Option ID = 19037]
4. 4 [Option ID = 19038]

Topic:- GP_Set5_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that :

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements.
Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) (C) and (D) only
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[Question ID = 4894][Question Description = Q46_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2.2

[Option ID = 19040]
3.3

[Option ID = 19041]
4. 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training



colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4895][Question Description = Q47_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19043]
2.2

[Option ID = 19044]
3.3

[Option ID = 19045]
4. 4

[Option ID = 19046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?

(1) It argues for only local production and of knowledge and its implementation.

(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher
education.

(4) It argues for practical learning alone for employability putting social issues aside.
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[Question ID = 4896][Question Description = Q48_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19047]
2.2

[Option ID = 19048]
3.3

[Option ID = 19049]
4. 4

[Option ID = 19050]

4) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be



facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HElIs is aimed at :

(A) Research internship with researchers and faculty at different HEls.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only
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[Question ID = 4897][Question Description = Q49_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19051]
2.2

[Option ID = 19052]
3.3

[Option ID = 19053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4898][Question Description = Q50_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19055]
2.2

[Option ID = 19056]
3.3

[Option ID = 19057]
4. 4

[Option ID = 19058]

Topic:- Santali_A
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[Question ID = 4949][Question Description = Q01_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19259]
2. 2 [Option ID = 19260]
3. 3 [Option ID = 19261]
4. 4 [Option ID = 19262]
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[Question ID = 4950][Question Description = Q02_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19263]
2. 2 [Option ID = 19264]
3. 3 [Option ID = 19265]
4. 4 [Option ID = 19266]

3) “Religion is the unified system of beliefs and practices relative to sacred th_lngs wh_lch unite
into one single community all those who adhere to them”. 1ZI’—F[ ‘g e b =5 HIATH
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[Question ID = 4951][Question Description = Q03_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19267]
2. 2 [Option ID = 19268]
3. 3 [Option ID = 19269]
4. 4 [Option ID = 19270]
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[Question ID = 4952][Question Description = Q04_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19271]
2. 2 [Option ID = 19272]
3. 3 [Option ID = 19273]
4. 4 [Option ID = 19274]
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[Question ID = 4953][Question Description = Q05_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19275]
2. 2 [Option ID = 19276]
3. 3 [Option ID = 19277]
4. 4 [Option ID = 19278]
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[Question ID = 4954][Question Description = Q06_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19279]
2. 2 [Option ID = 19280]

3. 3 [Option ID = 19281]
4. 4 [Option ID = 19282]
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[Question ID = 4955][Question Description = Q07_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19283]
2. 2 [Option ID = 19284]
3. 3 [Option ID = 19285]
4. 4 [Option ID = 19286]
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[Question ID = 4956][Question Description = Q08_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19287]
2. 2 [Option ID = 19288]
3. 3 [Option ID = 19289]
4. 4 [Option ID = 19290]
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[Question ID = 4957][Question Description = Q09_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19291]
2. 2 [Option ID = 19292]
3. 3 [Option ID = 19293]
4. 4 [Option ID = 19294]
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[Question ID = 4958][Question Description = Q10_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19295]
2. 2 [Option ID = 19296]
3. 3 [Option ID = 19297]
4. 4 [Option ID = 19298]
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[Question ID = 4959][Question Description = Q11_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19299]
2. 2 [Option ID = 19300]
3. 3 [Option ID = 19301]
4. 4 [Option ID = 19302]

12) o o .
ST g1 A AT e Y
(1) =TSt TH5 39 (2) TH=TY I
(3)  EAE= E (4) TSRS HYHEA o

[Question ID = 4960][Question Description = Q12_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19303]
2. 2 [Option ID = 19304]
3. 3 [Option ID = 19305]
4. 4 [Option ID = 19306]
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[Question ID = 4961][Question Description = Q13_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19307]
2. 2 [Option ID = 19308]
3. 3 [Option ID = 19309]
4. 4 [Option ID = 19310]
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[Question ID = 4962][Question Description = Q14_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19311]
2. 2 [Option ID = 19312]
3. 3 [Option ID = 19313]
4. 4 [Option ID = 19314]
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[Question ID = 4963][Question Description = Q15_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19315]
2. 2 [Option ID = 19316]
3. 3 [Option ID = 19317]
4. 4 [Option ID = 19318]
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[Question ID = 4964][Question Description = Q16_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19319]
2. 2 [Option ID = 19320]
3. 3 [Option ID = 19321]
4. 4 [Option ID = 19322]
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[Question ID = 4965][Question Description = Q17_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19323]
2. 2 [Option ID = 19324]
3. 3 [Option ID = 19325]
4. 4 [Option ID = 19326]
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[Question ID = 4966][Question Description = Q18_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19327]
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3. 3 [Option ID = 19329]
4. 4 [Option ID = 19330]
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[Question ID = 4967][Question Description = Q19_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19331]
2. 2 [Option ID = 19332]
3. 3 [Option ID = 19333]
4. 4 [Option ID = 19334]
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[Question ID = 4968][Question Description = Q20_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19335]
2. 2 [Option ID = 19336]
3. 3 [Option ID = 19337]
4. 4 [Option ID = 19338]
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[Question ID = 4969][Question Description = Q21_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19339]
2. 2 [Option ID = 19340]
3. 3 [Option ID = 19341]
4. 4 [Option ID = 19342]
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[Question ID = 4970][Question Description = Q22_Santali_SHAAN_NOV22_S1]
1 [Option ID = 19343]
2 [Option ID = 19344]
3 [Option ID = 19345]
4 [Option ID = 19346]
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[Question ID = 4971][Question Description = Q23_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19347]
2. 2 [Option ID = 19348]
3. 3 [Option ID = 19349]
4. 4 [Option ID = 19350]
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[Question ID = 4972][Question Description = Q24_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19351]
2. 2 [Option ID = 19352]
3. 3 [Option ID = 19353]
4. 4 [Option ID = 19354]
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[Question ID = 4973][Question Description = Q25_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19355]
2. 2 [Option ID = 19356]
3. 3 [Option ID = 19357]
4. 4 [Option ID = 19358]

26) - .o g 5 - 5
i e ST Fwar 9ot 21 s w7
(1) ‘ZErs A (2) ‘afedt fafrdl’
(3)  “wmEr mmw (4) ‘ueE

[Question ID = 4974][Question Description = Q26_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19359]
2. 2 [Option ID = 19360]
3. 3 [Option ID = 19361]
4. 4 [Option ID = 19362]
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[Question ID = 4975][Question Description = Q27_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19363]
2. 2 [Option ID = 19364]
3. 3 [Option ID = 19365]
4. 4 [Option ID = 19366]
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[Question ID = 4976][Question Description = Q28_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19367]
2. 2 [Option ID = 19368]
3. 3 [Option ID = 19369]
4. 4 [Option ID = 19370]
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[Question ID = 4977][Question Description = Q29_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19371]
2. 2 [Option ID = 19372]
3. 3 [Option ID = 19373]
4. 4 [Option ID = 19374]
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[Question ID = 4978][Question Description = Q30_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19375]
2. 2 [Option ID = 19376]
3. 3 [Option ID = 19377]
4. 4 [Option ID = 19378]
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[Question ID = 4979][Question Description = Q31_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19379]
2. 2 [Option ID = 19380]
3. 3 [Option ID = 19381]
4. 4 [Option ID = 19382]
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[Question ID = 4980][Question Description = Q32_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19383]
2. 2 [Option ID = 19384]
3. 3 [Option ID = 19385]
4. 4 [Option ID = 19386]
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[Question ID = 4981][Question Description = Q33_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19387]
2. 2 [Option ID = 19388]
3. 3 [Option ID = 19389]
4. 4 [Option ID = 19390]
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[Question ID = 4982][Question Description = Q34_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19391]
2. 2 [Option ID = 19392]
3. 3 [Option ID = 19393]
4. 4 [Option ID = 19394]
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[Question ID = 4983][Question Description = Q35_Santali_SHAAN_NOV22_S1]

1. 1 [Option ID = 19395]
2. 2 [Option ID = 19396]
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[Question ID = 4984][Question Description = Q36_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19399]
2. 2 [Option ID = 19400]
3. 3 [Option ID = 19401]
4. 4 [Option ID = 19402]
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[Question ID = 4985][Question Description = Q37_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19403]
2. 2 [Option ID = 19404]
3. 3 [Option ID = 19405]
4. 4 [Option ID = 19406]
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[Question ID = 4986][Question Description = Q38_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19407]
2. 2 [Option ID = 19408]
3. 3 [Option ID = 19409]
4. 4 [Option ID = 19410]
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[Question ID = 4987][Question Description = Q39_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19411]
2. 2 [Option ID = 19412]
3. 3 [Option ID = 19413]
4. 4 [Option ID = 19414]
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[Question ID = 4988][Question Description = Q40_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19415]
2. 2 [Option ID = 19416]
3. 3 [Option ID = 19417]
4. 4 [Option ID = 19418]
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[Question ID = 4989][Question Description = Q41_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19419]
2. 2 [Option ID = 19420]
3. 3 [Option ID = 19421]
4. 4 [Option ID = 19422]
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[Question ID = 4990][Question Description = Q42_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19423]
2. 2 [Option ID = 19424]
3. 3 [Option ID = 19425]
4. 4 [Option ID = 19426]
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[Question ID = 4991][Question Description = Q43_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19427]
2. 2 [Option ID = 19428]
3. 3 [Option ID = 19429]
4. 4 [Option ID = 19430]
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[Question ID = 4992][Question Description = Q44_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19431]
2. 2 [Option ID = 19432]
3. 3 [Option ID = 19433]
4. 4 [Option ID = 19434]
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[Question ID = 4993][Question Description = Q45_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19435]
2. 2 [Option ID = 19436]
3. 3 [Option ID = 19437]
4. 4 [Option ID = 19438]
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[Question ID = 4994][Question Description = Q46_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19439]
2. 2 [Option ID = 19440]
3. 3 [Option ID = 19441]
4. 4 [Option ID = 19442]
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[Question ID = 4995][Question Description = Q47_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19443]
2. 2 [Option ID = 19444]
3. 3 [Option ID = 19445]
4. 4 [Option ID = 19446]

48) £ o e e e .
T4 @y A 1w i = 9iE e =

(A) f=Em (B) sTE
(C) em (D) =emz
(E) o=

AW 1 U 3 faEeT F mH gEE 9o aeE o
() T (A) 3 (B) (2) T (B) ¥ (O)
(3) = (C) ¥ (D) (4) T (D) #F (E)

[Question ID = 4996][Question Description = Q48_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19447]
2. 2 [Option ID = 19448]
3. 3 [Option ID = 19449]
4. 4 [Option ID = 19450]
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[Question ID = 4997][Question Description = Q49_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19451]
2. 2 [Option ID = 19452]
3. 3 [Option ID = 19453]
4. 4 [Option ID = 19454]
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[Question ID = 4998][Question Description = Q50_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19455]
2. 2 [Option ID = 19456]
3. 3 [Option ID = 19457]
4. 4 [Option ID = 19458]
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[Question ID = 4999][Question Description = Q51_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19459]
2. 2 [Option ID = 19460]
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4. 4 [Option ID = 19462]
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[Question ID = 5000][Question Description = Q52_Santali_SHAAN_NOV22_S1]
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2. 2 [Option ID = 19464]
3. 3 [Option ID = 19465]
4. 4 [Option ID = 19466]
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[Question ID = 5001][Question Description = Q53_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19467]
2. 2 [Option ID = 19468]
3. 3 [Option ID = 19469]
4. 4 [Option ID = 19470]
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[Question ID = 5002][Question Description = Q54_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19471]
2. 2 [Option ID = 19472]
3. 3 [Option ID = 19473]
4. 4 [Option ID = 19474]
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[Question ID = 5003][Question Description = Q55_Santali_SHAAN_NOV22_S1]
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4. 4 [Option ID = 19478]
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4. 4 [Option ID = 19482]
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[Question ID = 5005][Question Description = Q57_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19483]
2. 2 [Option ID = 19484]
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4. 4 [Option ID = 19486]
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4. 4 [Option ID = 19490]

59) o
w1 1 2001 TEET 1 BT AR FEA 99 FwE

(A) TEEE (B) =M2M I =T
(C) == el Foars (D) diet ST SETS
(E) ==t

AN 1 UH A ey 1 @H Sl A de srse A

() T (A), (B) #F (C) (2) wH (B), (C) ¥ (D)
(3) T (C), (D) 37 (E) (4) TH (B), (C) 9 (E)
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[Question ID = 5009][Question Description = Q61_Santali_SHAAN_NOV22_S1]
1. 1 [Option ID = 19499]
2. 2 [Option ID = 19500]
3. 3 [Option ID = 19501]
4. 4 [Option ID = 19502]
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[Question ID = 5010][Question Description = Q62_Santali_SHAAN_NOV22_S1]
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[Question ID = 5044][Question Description = Q96_Santali_SHAAN_NOV22_S1]
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1 [Option ID = 19639]
2 [Option ID = 19640]
3 [Option ID = 19641]
4 [Option ID = 19642]

ST ATHE FUT T AF AFTE G TSEE § AW Fhel @ 96 @H 100 e HE AFE v 1)

Afew wigsd, IuiHEz, w’mﬂm'wamm:iiaﬂiﬂidm u<1||4|-}4r%ﬁa“iulbﬁmmm|w
e T AR ST YT SgH £ AT Aelcldulqnm_{mﬁTF‘WmW"ﬁaﬂ—ﬂ:ﬂ
AT 1A Iq9 GUST S[qH 1 W Sl S| A1 1 AT GSE HET, Sl I, gEt, qgi, =i
T I UHH FdAE 1 B9 AFRA AYL HEE SIqd B Tiisd 1 21 GUST FSd W 1S ARl A 3
Hided qFF 71| A e 1A 28T 1 W T ATEAR] e S5E AT ARG 1, ST 2RE
T M T ToEd TG 302 T SR = B9 o4 A 99 B T I A6 231 = 29 o4 A




(1)
(3)

e (2) g
KL @) T

[Question ID = 5045][Question Description = Q97_Santali_SHAAN_NOV22_S1]

A W N -

3)

1 [Option ID = 19643]
2 [Option ID = 19644]
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1. 1 [Option ID = 19659]
2. 2 [Option ID = 19660]
3. 3 [Option ID = 19661]
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